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In what proportion must some tea at Rs. 60 per kg. be ed

with another tea at Rs. 65 per kg. so that the cost price of new
mixture is Rs. 62 per kg.?

60 &. Tia T I Fr 65 T. T fFAT ATAT =TT F AT e qaTT H
AT stTT arfe 7 frsor &1 T T 62 . Tia 3T 8§y 2
(A)2.3 (B)3:2 (C)4:3 (D)5:7

(SSC CGL PRE
2022) ( 'ﬂ
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The average weight of girls is 15 kg. and the average boys is 30
kg. and the average weight of boys and girls is both 25 kg. If the
total number of boys and girls are 48 then find the total number
of boys.

AT T 3Ed T 15 FRATITH FraT 21 3 ASH| 71 3| For 30
TR ) 3R S ST A ThaT <11 T e st 25 fherRme 2
i< ASF ST ASTHIAT T T G&IAT 48 § AT ASHI l oA G&AT AT
o

(A) 12 (B) 16 (C) 24 (D)

CGL 2022) SE \>
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The population of a town was 2,00,000. If the number of males
increased by 10% and the number of females decreased by
6%, the total population would have remained unchanged. The
number of males is-

@maﬁmz 00,000 #ft1 Tfe TET 6t F&AT 10% T STAT
AT AT it HEAT 6% FH g ST, AT Fef FeeedT Aqfafa

TEdT| &I il 9&T 2-

(A) 80,000 (B) 75,000 (C) 72,000 (D) 78,000

(SSC CGL 2020) ( =8
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Out of Rs. 6000 some amount was lent out at
10% per annum and the rest amount is 20%
per annum and thus in four years the total
interest from both the amount collected was
Rs. 3400. Find the difference between amount
lent out at the different given rates.

9T | ¥. 6000 =T T I 10% Tia 99 T T
< ST &) TE i AT TR 20% w79 & @i
T TR AT AW H QA1 TehiAd T I HA AT
%1 3400. %ﬁﬁﬁﬁaﬁwswﬁﬁvﬁ%

1 AT ATT ol (g S
(A) Rs. 1000 (B) Rs. 1500 (C) Rs. 50 (u)jé

VN aYaVal 1O%RONNS A6 1)
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In a school with 600 students, the average age of the boys is 12
years and that of the girls is 11 years. If the average age of the

school is 11 years and 9 months, then the number of girls in the
school is

600 ST ATt TheA H A1t 3 Ed o 12 99 AT A=THAT il 11 0
éluﬁ%ﬁw irarq o 11 99 9 |Tg g, A A<y ¥ arsfaa i

(A) 450 (B) 150 (C) 250 (D) 350
(Sfc Ll
2022) @)
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The average monthly salary of all the employees in a factory is
Rs.8840. If the average salary of all the officers is Rs.15000 and
that of the remaining employees is Rs.8000 then what is the
percentage of the officers among the employees?

T I § THT FHATIIT FT 39 ATHF da- 8840 T gl If
Tt fEreRTiRAT 7 3= a9 15000 T9X g T AW FHATIRAT T
8000 T g, AT HHATIAT R FATARIIAT T FTALqT Foha=T 872
A)12% (B) 15% (C) 8.33% (D) 16%  (SSC CHSL

2022) ( \5
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The average weight of a class of 50 students is 48.6 kg. f gl
average weight of the 20 boys is 54 kg, then find the average

weight (in kg) of the girls in the class. ‘
50 %@Tﬁﬁﬁ@*ﬂﬂaﬁww%ﬁ%m%l i< 20 ASHI FT

S AT 54 AT 8, AT F&AT H ARl 7 aa Wi (Fherr ®) 10
Hioral

(A)40 (B) 46 (C) 45 (D) 42
(SSCCt

2022)
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In what ratio a shopkeeper should mix tea at Rs 50/kg W|th tea at
Rs 58/Kg that he would gain 25% by selling the mixture at Rs

70/Kg?
T ST ol 50 T T fFenumy arett =1 v 58 T3 viar

FReT I ATt =T o |1 foher sreaTa § =T =i e i3 fsor 6 70

Tq I e X 9= 92 39 25% FT AT g1?
(A)1:3 (B)3:1 (C)1:2 (D)2:1 (SSC CHSL 2022)
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A trader has bought 50 kg of pulse for Rs 4000, part of which he sells

at a profit of 8% and rest at 18% profit. If overall he gets a profit of Rs
560, then find the quantity of pulse sold at 8% profit.

T ATIR 7 4000 94 § 50 et Irer @<, foras § 98 $ 9T 8% +
ATH I 49dT g 3T AT FT 18% F ATH I 9=aT gl Ii< SH IR &g | 560
TIY FT AT AT &, AT 8% AT U ST 5 QTS vl HIAT AT hl o1 |

(A)15 foRaT (B) 20 (C) 25 T (D) 30
ETL (SSC CGL
2021)
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In a group of 50 students Rs 41 is distributed in such a y that
each boy gets 90 paisa and each girl will get 65 paisa. Find the

ratio between boys and girls.
50 ST TF T9g H 41 T T TH di¢ STd g 196 TAT A= hl
90 T 3T TAF Thl I 65 T8 AT 1 A= X AT & S

AT AT hieTq)
(A)1:2 (B)17:8 (C)8:17 (D) 2: 1
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The average weight of the students of class IX of section A is 40
kg while that of the section B is 48 kg. If the respective ratio of
the number of the students in the section A to the section B is
3:5; find the average weight of both the sections of the class IX.

FET IX % GFAT A % DAL 7 a1 40 foher @ Stafe 9« B %
AT FT taa WX 48 fFar 8. Tf a=er A T 9919 B & ==t
AT T FHHST: SATATT 3:5 BT AT AT HETIAT 6 STAT & TT AT T
ST AT hlford?

(A) 45 (B) 40 (C) 42 (D) 50

CHSL 2020) 6883 1) \>
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The boys and girls in a school are in the ratio of 3:2. If 20% boys
and 30% girls are getting the scholarship; find the percentage of
the students who are not getting the scholarship.

T fAeme # g% i AR 3:2 % Jqura § 2. I 20% ASH a7
30% SEHRTT FT FTAGRT AT G 3l AT [T 7 WA arer o
gtaera fA=meft 872

(A) 25 (B) 70 (C) 76 (D) 75

(SSC CHSL 2020)
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A man buys two horses for Rs.1080 and sells one so as  to lose
6% and the other so as to gain 7.5% and on the whole he neither
gains nor loses. Find the difference of the cost price of the
horses?

T ATk o < "is 1080 &. H @< 3T TH Tl 6% Hi i 9L ST 3
AL AT 7.5% % ATT I T F T I AT AT AT g1 T AT &F i
€S, IS o T GFI T AT AT it
(A)125 (B)120 (C)290  (D)150

(SSC CHSL 2020)
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